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RPF  MOCK TEST – 4 (SOLUTION)

51. (B) A.T.Q.,
Required percentage

= 

1200 30 900 40

100 100 100
2100

 




= 34.28%

52. (C) Zinc        :        Alloy
16           :        100
4             :        25

84           :       525  

×21 ×21

 Required amount of alloy = 525 kg.
53. (C) A.T.Q.,

Minimum cost price = ` 200
Maximum selling price = ` 500
 Maximum profit on 1 book = ` 300
 Required profit = 3000 × 20 = ` 6000

54. (A) A.T.Q.,

12
%

 le
ss

100

110

88 116

Profit of 16%

6 
un

it
88 125

100

×

C.P.

S.P.

New
 S.P.

New 
C.P.

 6 units = ` 3.6

 100 units = 
3.6

100
6

  = ` 60

 Required selling price

= 
60 130

100


= ` 78

55. (A) Let selling price = ` 100

Cost price = 
100 125

100



                 = ` 125

 Actual loss = 
25

100
125



                     = 20%

56. (B) Two successive discounts

= 34 + 6 – 
34 6

100



= 40 – 2.04.
Required difference = (40 – 40 + 2.04)%

= 
127500 204

100 100





= ` 2601

57. (D) Let amount = 100
Total intrest

= 
7 – 3

3 2 – (1 0 – 2 2 1 ) – 2 1
= 17.9

 Required rate = 
17.9 100

100


= 17.9%

58. (B) Simple intrest on ` 18000

= 
18000 5 16

100 4

 

 = ` 3600

 Required amount = ` 24000 + ` 3600
 = ` 27600

59. (D) A.T.Q.,
Priciple Amount

31 8 64
1 4

 Required rate = 
4 1

100
1

 


 = 300%

60. (C) 

First mixture     4              3          2    = 9×4

Second mixture     6              5           1    = 12     ×3

Water     Sugar    Salt    Milk

 Required amount = 
3

72
= 

1

24
61. (D) Let the number = x

A.T.Q.,

6 15

7 17

x x

x x

 


 
 102 + 17x + 6x + x2 = 105+15x + 7x + x2

 x = 3
62. (B) Ist mixture   7 : 4 = 11 × 91

IInd mixture 4 : 3 = 7 × 143
IIIrd mixture 8 : 5 = 13 × 77
Ist mixture 637      364
IInd mixture 572      419
IIIrd mixtrue        616      385
Now,

637                        572

              616

44            :               21

63. (C) A.T.Q.,

(2M + 1W) × 16 = (2M + 4W) × 9

 32M + 16W = 18M + 36W

 14M = 20W

 7M = 10W

Now, 7 man will get = 7 × 400

= ` 2800
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 One woman will get = 
2800

10
         = ` 280

64. (B)
A + B ––

B + C ––   30

C + A ––  

15

2

45

7

12

3

14

90

 Required time = 
90 2 6

6
29 29


  days

65. (C) 8050700
700

700

1050 7000 6
6300

1050

750

350 700 2

1

700
×

1

 HCF = 350
 Maximum wages = ` 350

66. (D)

Efficiency  R         :       4  R 2 2

Time         1           :       4
                 4           :        1

                45          :     11.25  

×11.25 ×11.25

Diameter     Pipe 1           Pipe 2
                        2R        :       4R
                    (2R/2)    :       (4R/2) 2 2

Reaquired time = 11.25 minutes
67. (C) Let x and y are two fracitons.

A.T.Q.

xy = 
14

15
....... (i)

and, 
35

24

x

y
 ....... (ii)

From equation (i) and (ii)

 x2 = 
49

36

 x = 
7

6

and, y = 
24 7 4

35 6 5
 

 x is the greater fraction.

68. (B)
100 100 100

75 75

10 2 5

5 5




= 2100 × 525

= 275 ×1025

69. (D) A.T.Q.

4 4 5x   = 3,

 4x + 5 = 81
 x = 19

70. (B) A.T.Q.,

3
2

3

2

5 5 5
5

5

a






 5 5  × 53 × 
3

25  = a + 2

  53 × 53 = a + 2
 a + 2 = 6
 a = 4

71. (C) Let the length of train = x m.
A.T.Q.

120

45 25

x x


 5x + 600 = 9x
 x = 150

72. (A) Relative speeed of both trains = 68 – 40
= 28 km/hr
 Distance covered by faster train in 24

sec. = 
27 28 5

18

 
 = 210 m.

 Length of faster from x = 210 meter
73. (A)  A.T.Q.,

9 9 9 9
1 1 1 1

82 82 82 82

        
                     

9 9
1 1

82 82

    
          

= 
91 91 73 73 73 91

82 82 82 82 82 82
   

       
            

= 
8281 5329

82

82

164




 
  

= 
2952

164
 = 18

74. (C) A.T.Q.,
x5 – 14x4 + 14x3 – 14x2 + 14x – 1
= x5 – 13x4 – x4 + 13x3 + x3 – 13x2 – x² +
   13x + x – 1
= x4 (x – 13) – x3 (x – 13) + x² (x – 13) –x
(x –  13) + x – 1
= 0 – 0 + 0  – 0 + 13 – 1 = 12

75. (B) x = 5 – 21

2x = 10 – 2 21 ....... (i)

 2x =  
2

7 3

 x  =  
21

7 3
2


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 x  = 
1

2
 7 3

Now,

32 – 2 – 21

x

x
 = 

1

2
× 

7 – 3

32 – (10 – 2 21) – 21

=  
7 3

2 22 2 21 21



 

= 

 
2

7 3

2 21 1 21




 

 
 

=  
7 3

2 21 1 21



 

= 
7 3

2



76. (C) Required average = 
34 6 9

5

 
= 39 years.

77. (D) Required average

= 
2.2 0.02 0.201 0.002 0.22

5

   

= 
2.643

0.5286
5



78. (A)  Let total profit = x

 25 9000
9000

100

x


 x = 36000 +  9000
 x = 45000

79. (D) A.T.Q.

 14cm

28 cm

 Required area = (28)2 –  (14)2

                          = 784 – 616 = 168 cm2

80. (A) A.T.Q.,

2 237 35 144 12  

Hence, this is right angled triangle.

Area of the triangle = 
1

37 35
2
   cm2

Area of another triangle

= 
1

2 35 37
2

    cm2

Now, 35 × 37 = 
1

42
2

h 

h = 61.67

Height of triangle = 61.67 cm

81. (B) ATQ,

Required number

= 1800 × 
20 3 12 5

1800
100 5 100 12

   

= 216 – 90 = 126

82. (B) ATQ,

Total sum

= 1800 × 
12 5

100 12
  + 1800 × 

18 2

100 3
  +

   1800 × 
15 8

100 15
  + 1800 × 

35 11

100 14
  +

   1800 × 
20 3

100 5


= 90 + 216 + 144 + 495 + 216 = 1161

Required average = 
1161

232
5



83. (A) ATQ,

Required number

= 1800 × 
12 7

100 12
  + 1800 × 

35 3

100 14


= 126 + 135 = 261

84. (A) ATQ,

Girls in Tennis : Boys in Swimming

1800 × 
20 3

100 5
 : 1800× 

18 1

100 3

2 : 1

85. (B) ATQ,

Required number = 1800 – 1161

= 639

86. (C) As, Marathon is a long race.

Similarly hibernation is lengthy period

of sleep.

87. (B) Foot has 12 inches while yard has 36

inches.

88. (A) As,

24 – 44  24 + 2² + 42 = 44

Similarly,

36 – 81  36 + 32 + 62 = 81

89. (A) As, 
1 2 9 8

5
4

  


Similarly, 
8 9 1

3

 
 6
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90. (B) Number of constant is divided by number
of vowels

i.e. CONSTANT  
6

3
2


EDUCATION = 
4

5

91. (D) Except IMF, all others orgnisation has
their headquater in Geneva.
While headquater of IMF is in
Washington DC.

92. (D) Ecept Russia, all other countries are
colonist of England.

93. (C) 12 – 42  2 × 2, 1 × 2  42
24 – 84  4 × 2, 2 × 2  84
23 – 68  3 × 2, 2 × 2  64  68
31 – 26  1 × 2, 3 × 2  26

94. (B) Execpt CFIN, in all other is added next
letter to get the next one letter.

95. (B) Ecept 673, all others are made of odd
digits only.

96. (C) 8 + 12 – 11 = 9
10 + 13 – 14 = 9
4 + 11 – 6 = 9

97. (A) 9 16 4 25  

9 4 1   16

49 36 25 64  

98. (D)

99. (A) Son
AnilSohit

Jyoti

S
is

te
r

Son

Neha

Jatin Anty

Zoya

daughter

100. (D) Let the prestn age of Vipin = x years
Present age of Vipin's father = 3x
ATQ,
3(3x – 6) = 72
 9x = 90
 x = 10
 Present age of Vipin = 10 years

101. (A) From both the figures,

5 6 1

5 2 4

 '1' will come opposite to  containing 4.

102. (D)

103. (B)

104. (A) 7 13 26 30 60,  ,  ,  ,  ,  62

+6    ×2     +4    ×2    +2

105. (A) 23 28 38 49            62

+2+3  +2+8  +3+8  +4+9

106. (B) (3)2, (3 + 3)2, (6 + 3)2, (9 + 6)2, (15 + 9)2

= 576

107. (C) 42 + 21 × 2 < 48 × 3

 126 <144

108. (B) 

Swimmers

Athletes

Sports men

109. (A) abc/bca/cab/abc/bca

110. (B)

111. (C) As, 7 × 6 – 7 – 6 = 29

and, 8 × 7 – 8 – 7 = 41

Similarly,

6 × 5 – 6 – 5 = 19

112. (C) As, 8 × 7 – 7× 2 = 42

and, 7 × 6 – 6 × 2 = 30

Similarly,

9 × 8 – 8 × 2 = 56

113. (B) Required time = 18 : 30 – 11 : 25

                        = 7 : 05

Hence, water image of 11 : 25 is 7 : 05.

114. (C)

115. (C)

116. (B)

270º

45º
East West 

North

South

South-East

180º

Hence, his face is in South-East

Direction.

117. (B) Let number of students who belong to

both club = x

ATQ,

(23 – x) + (19 – x) = 32

 42 – 2x = 32

 x = 5

118. (C)

119. (B)

120. (B) Total number of triangles = 16



Ph: 09555108888,  09555208888 5

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

Note:- If your opinion differs regarding any answer, please message the mock  test
and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the

doubts, also share your suggestions and experience of Sunday Mock

Answer key
1. (A)
2. (B)
3. (C)
4. (B)
5. (B)
6. (C)
7. (D)
8. (C)
9. (C)
10. (C)
11. (C)
12. (A)
13. (B)
14. (C)
15. (A)

31. (C)
32. (A)
33. (B)
34. (C)
35. (B)
36. (C)
37. (B)
38. (A)
39. (A)
40. (D)
41. (D)
42. (A)
43. (B)
44. (B)
45. (D)

46. (B)
47. (B)
48. (B)
49. (A)
50. (C)
51. (B)
52. (C)
53. (C)
54. (A)
55. (A)
56. (B)
57. (D)
58. (B)
59. (D)
60. (C)

16. (D)
17. (A)
18. (A)
19. (A)
20. (D)
21. (D)
22. (B)
23. (D)
24. (A)
25. (C)
26. (A)
27. (C)
28. (B)
29. (A)
30. (B)

61. (D)
62. (B)
63. (C)
64. (B)
65. (C)
66. (D)
67. (C)
68. (B)
69. (D)
70. (B)
71. (C)
72. (A)
73. (A)
74. (C)
75. (B)

76. (C)
77. (D)
78. (A)
79. (D)
80. (A)
81. (B)
82. (B)
83. (A)
84. (A)
85. (B)
86. (C)
87. (B)
88. (A)
89. (A)
90. (B)

91. (D)
92. (D)
93. (C)
94. (B)
95. (B)
96. (C)
97. (A)
98. (D)
99. (A)
100.(D)
101.(A)
102.(D)
103.(B)
104.(A)
105.(A)

106.(B)
107.(C)
108.(B)
109.(A)
110.(B)
111.(C)
112.(C)
113.(B)
114.(C)
115.(C)
116.(B)
117.(B)
118.(C)
119.(B)
120.(B)


